
839-928V80

IN231100464V01_GL



1



2

1 2 3 212

4 5 6 212

8 17 2

1

1

3

3

4

4

5

7

7

6

6

2

8



3

01

EN_Do not confuse similar screws.
FR_Ne pas confondre des vis similaires.
ES_No confunda tornillos similares.
PT_Não confundir parafusos semelhantes.
DE_Verwechseln Sie ähnliche Schrauben nicht.
IT_Non confondere le viti simili.

NOTE

34  2 6

2824  24B C

D E

 2G  8H

50J

13I

F

A
M6*30

M3*12

M4*30

M4*12

4
A

A

A

A

x2
 8A



4

03

02

4

4

4

3

3

3

3

 4C

 4B

 4C

 4B

B

B

B

B

B

B

B

C

C

C
C

B
B

B

C
C

C

C



5

05

04

5
I

I

II
I

I
I

I

I I

I
I

I

C
C

C

C

CCC

C

 8A

3

3

4

4

 8C

12I

 1I

A

A

A

A

A

A

A
A

5

8



6 

07

06

x2
A

A

 4A

6

6

7

7

 2C

 2B

B

B

B

C

C



7

09

08

4

4

3

3

6

6

6

7

7

7

 2C

 2B

 8C

 8B

B

B

B

B

B

B

B

B
C

C

C

C

C

C

C

C

C

C



8

10 4A

 6E

18D

A
A

A E

E

E

E

E

E

DDD
DDD

DDD

DDD

DDD

DDDA

3

3

4

4

2

2 B

B
B

B
B

 4B
11



9

13

12

J
J

J

J
J

J

43

1

1

1

 9J

 9J

4

3



10

15

14

D

D

D

DF

G

1

1
1

1

3
4

3

3

3

4

 4D

 1F

 4D

 1G



11

17

16

D

D

F

1

11

1

4
3

3

4

360。

 4D

 1F



12

19

18

D

D G 1 1

4

3

 4D

 1G

J

J H

H
H

H

H

J

J

J
J

J

J
J

J
J

16J

 4H



13

20

J

J

J
J

J
J

J

J

16J

 4H

Done



14


